006000000000 bocdbododo(@oa)PDFO O
Jododooooooooooo
https://www.100test.com/kao_ti2020/139/2021 2022 2006 E5 B9
B49 E6 9C ¢98 139059.ntm I 000920 DO O OO OOO O
000 0Oprogl.cl OO O IN.DATO O 0O 2000 O O O O O xxd
JO00000OmaxOODOOOOOcentD OOxxdOO3000
DoO700000000p00020000 00 0 max,cnt,pj
OO0OOUT.DATUO DO OODODOOO O U read_dat(int
xx[200)0 O 0O O O O O O O #include #include #define N 200
void read_dat(int xx[N]){int i,).FILE *fp.
fp=fopen("in.dat","r").for(i=0.ifor(j=0.jfscanf(fp,"%d,",&amp.xx[1*1
0j]).printf("%d",xx[i*10 j]).}printf("\n").}close(fp).} void
main(){int m,temp,n,sum.int cnt,xx[N],max .float pj.FILE *fw.
clrscr().fw=fopen("out.dat","w").read_dat(xx)./*****xrrikiriiiiix
Kkkkkkkkkkkkkkkkkkkkkkrkk [ont=0. max=XxXx [0] pjzoo
n=0.for(m=0.mif(maxfor(m=0.m{if(xx[m]==max) cnt
Af(Xx[M]%3==0]|xx[m]%7==0){ pj =xx[m]. n". }}pj/=n.

/ kkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkk /
printf("\n\nmax=%d,cnt=%d,pj=%6.2f\n",max,cnt,pj).fprintf(fw,"
%d\n%d\n%6.2A\n",max,cnt,pj).fclose(fw).} 100Test L1 L1 1 I [
Jo0o0oboodoodobooodd www.100test.com



